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Part A: Grammar

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3),

and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

1- Pam said to her mother, “I didn’t wash my blouse last week.”
Pam told her mother that ... .
1) I didn’t wash my blouse last week
2) she hasn’t washed her blouse the week before
3) I hadn’t washed your blouse the week before
4) she hadn’t washed her blouse the previous week
2- Regulations required that every student ... at least 90% of the lectures.
1) attends 2) attended 3) attend 4) to attend
3- “Wait here till your flight number is called.”, I said.
I asked them ... .
1) if they would wait there till your flight number was called
2) if they would wait there till their flight number is called
3) to wait there till their flight number was called
4) to wait there till your flight number is called
4- “Turn the lights off before you leave for work.”, he said to me.
He told me ... .
1) turn the lights off before I leave for work
2) to turn the lights off before I left for work
3) turn the lights off before you left for work
4) to turn the lights off before you leave for work
5- I have been looking for this shirt for ages! I wish I ... enough money with me now to buy it.

1) have had 2) had 3) would have 4) had had
6- Jack was embarrassed about failing history; he ... more attention in class.
1) wishes he has paid 2) wished he paid 3) wishes he will pay 4) wished he had paid

7- “Will you accept my invitation?”, I asked Sonia.
I wondered ... my invitation. I hoped she wouldn’t deny it.
1) that she would accept 2) that if she would accept
3) whether or not she would accept 4) whether she would accept or not
8- Your addiction to smoking is getting worse; I wish you ... before it killed you!
1) will quit 2) would quit 3) had quit 4) quit
9- Mark ... me that he ... London by the end of the week. I wasn’t expecting him to leave so soon.
1) said — would leave 2) told — would leave 3) said — would have left 4) told — would have left
10- Fred asked, “Can we still get tickets for the concert?”
Fred asked ... tickets for the concert.
1) if can we still get 2) that we can still get

3) whether we could still get 4) if we can still get
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Part B: Vocabulary

Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3)

and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

11- P’ve heard that you’re collecting ... for your latest novel; let me know if you need any help.
1) assumption 2) accomplishment 3) material 4) maintenance
12- The number of people who stay uneducated has ... rapidly in recent years; that’s a great achievement.
1) inclined 2) disproved 3) declined 4) disappeared
13- It was predicted that ten computers would be sufficient to ... all of the scientific and business needs of the company.
1) compose 2) handle 3) protect 4) console
14- His rude behavior at school has been so shocking that it has ... most of the teachers.
1) infected 2) insulted 3) invented 4) inserted
15- She is usually ... to be one of our best contemporary artists; her paintings are unique.
1) innovated 2) populated 3) circulated 4) acknowledged
16- Fortunately environmental ... has increased dramatically over the past decade, thanks to the media’s efforts.
1) soundness 2) awareness 3) madness 4) keenness
17- Experts predict that fuel costs will ... drastically in a few months.
1) raise 2) arise 3) rise 4) arouse
18- Whereas the 14th century noblemen had guarded their power by keeping their distance from the king, in the
15th century the way to power lay in ... to the royal family.
1) residence 2) proximity 3) optimism 4) facility
19- I find these mathematical puzzles too ... and prefer the more straightforward ones.
1) comfortable 2) compulsory 3) complicated 4) capable
20- The police officer ... and wounded the thief when he tried to escape, but was unable to catch him.
1) shut 2) shot 3) shouted 4) shifted
21- The Democratic Party ... 80 percent of the votes; that was a memorable victory for them.
1) collected 2) committed 3) competed 4) convinced
22- Newspaper reports suggested he was unreliable, and events happening ..., when he was shown to have lied in
court, proved it.
1) abstractly 2) respectively 3) subsequently 4) irregularly
23- After the storm you could see leaves and twigs ... on the water.
1) drowning 2) swimming 3) splashing 4) floating
24- Most of the people ... a much better performance by their country’s athletes in the Olympics.
1) exaggerated 2) exhibited 3) exchanged 4) expected

25- High tides ... with strong winds caused dangerous floods and destroyed the whole area.

1) combined 2) delighted 3) recovered 4) favored
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Part C: Word Order

Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer

sheet.

26-
1) That intelligent young Italian student looks angry.
2) That Italian young intelligent student looks angry.
3) That young Italian intelligent student looks angrily.
4) That young intelligent Italian student looks angrily.
27-
1) It is hard believing how easy is it for others to cheat her.
2) It is hard to believe how easy it is to others cheating her.
3) It is hard to believe how easy it is for others to cheat her.
4) It is hard to believe how to cheat her easy it is for others.
28-
1) Science fiction is any subject deals with the future or with so imaginative subjects as interstellar travel, life on
other planets, or time travel.
2) Science fiction is any subject dealing with the future or with such imaginative subjects as interstellar travel, life on
other planets, or time travel.
3) Science fiction is any subject which deals with the future or with so imaginative subjects as interstellar travel, life
on other planets, or time travel.
4) Science fiction is any subject dealt with the future or with too imaginative subjects as interstellar travel, life on
other planets, or time travel.
29-
1) There are no large national parks are found in the state of California.
2) No large national parks are found in the state of California.
3) Not the large national parks that are found in the state of California.
4) It is not large national parks are found in the state of California.
30-
1) Three hundred dollars was a good purchase I bought the used car for.
2) I bought the used car for three hundred dollars was a good purchase.
3) A good purchase I bought for three hundred dollars was the used car.

4) The used car I bought for three hundred dollars was a good purchase.

N\

forum.konkur.in



§ i ol 1 yamio (Wi YY) (5 5900 3 (39031 )

N\

&
s

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing
one of the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet.

\

Sue: Chris, I’m ...(31)... about my statistics course. I find it very difficult.

Chris: I had that class last semester and wanted to drop it, but I decided to ...(32)... . By the time it was over, I had

learned a lot.

Sue: Yeah, I suppose I shouldn’t ...(33)... just because it’s hard.

Chris: That’s right. You should always ...(34)... things, no matter how unpleasant they are.

31- 1) going with the tide 2) having second thoughts 3) lending a hand 4) putting on airs
32-1) lose my head 2) see eye to eye 3) beat around the bush 4) stick with it
33-1) get ahead 2) show off 3) give up 4) shore up
34-1) face up to 2) give out 3) hold out on 4) let down

A: I don’t think we are ...(35)... with this project. Are you sure you’ve presented all the details right?

B: If you think I’m wrong, check in the encyclopedia. I’m sure it will ...(36)... .

35-1) up in the air 2) on the right lines 3) on full alert 4) on the blink

36-1) let me down 2) rule me out 3) put me off 4) bear me out

Paul: Hey, Susan. You look ...(37)... . What happened?

Susan: I can’t find my math book! I went all over the place trying to find it, but I had no success at all. It was

...(39)....
37-1) on the ragged edge 2) out of bounds 3) as bright as a button 4) in the clear
38-1) out of my depth  2) in the blink of an eye 3) a closed book 4) a wild goose chase

A: What’s happened to Mary? Why is she feeling ...(39)...?
B: It’s because her plan for a trip to the beach has ...(40)... .
39-1) off the hook 2) down in the dumps 3) out of the question  4) in deep water

40- 1) gotten through ~ 2) gotten back 3) fallen through 4) fallen back

N\
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice
on your answer sheet.

It is easy to forget that the public education system is a relatively new phenomenon. In fact, compulsory
public education has only been in place for the past two centuries. Before that, ...(41)... the affluent were able
to hire tutors for their children, most education of children ...(42)... within the family and the community. In
many countries, where parents are looking for ...(43)... to the public education system, homeschooling is a
growing trend.

Homeschooling is still ...(44)... to be a radical choice in most countries. The laws that apply to it can be
...(45)... and vary widely from country to country. In some countries, such as France, England, Taiwan, and
the United States, homeschooling is permitted by law. In other countries, laws are not so clear, so
homeschooling goes on but isn’t ...(46)... permitted by existing laws. On the other hand, a third group of
countries including Germany and Brazil ...(47)... homeschooling.

At one time, homeschooling was frowned upon; it was traditionally used for students who could not
...(48)... school because of behavioral or learning difficulties. Today, however, more parents are taking on the
responsibility of ...(49)... their children at home due to dissatisfaction with the educational system. Many
parents are unhappy about class size, as well as problems inside the classroom. Teacher shortages and lack of
funding mean that, in many schools, one teacher is responsible for 30 or 40 pupils. The result is often that
children are ...(50)... of the attention they need. Escalating classroom violence has also ...(51)... some parents
to remove their children from school. Advocates of homeschooling believe that children learn better when they
are in a secure, loving environment. They ...(52)... that homeschooled children reportedly do just as well as
those who have been in the classroom, and many walk the campuses of top universities alongside the
conventionally educated. Many psychologists see the home as the most natural learning environment. Parents
who homeschool ...(53)... that they can monitor their children’s education and give them the attention that is

lacking in a traditional school setting. Students can also ...(54)... and choose what to study and when to study,

...(55)... enabling them to learn at their own pace.

41-1) since
42- 1) took part

43- 1) resources

2) however
2) took place

2) ingredients

3) when
3) put together

3) instructions

4) despite
4) put forward

4) alternatives

44- 1) interacted 2) persuaded 3) considered 4) generated
45- 1) complex 2) artistic 3) frequent 4) primary

46- 1) comparably 2) formally 3) annually 4) impulsively
47-1) prohibit 2) remove 3) attract 4) comprehend
48- 1) recommend 2) release 3) attend 4) supply

49- 1) instruct 2) being instructed 3) instructing 4) having instructed
50- 1) deprived 2) derived 3) declared 4) destroyed
51-1) neglected 2) motivated 3) objected 4) informed
52-1) turn in 2) point out 3) come down 4) clear up
53-1) dismiss 2) tread 3) argue 4) exclude
54-1) hold 2) lead 3) draw 4) pick

55-1) thus 2) though 3)as 4) unless
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best
choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1
Europa is the smallest of planet Jupiter’s four largest moons and the second moon out from Jupiter. Until

1979, it was just another astronomy textbook statistic. Then came the close-up images obtained by the
exploratory spacecraft Voyager 2, and within days, Europa was transformed, in our perception, at least-into
one of the solar system’s most intriguing worlds. The biggest initial surprise was the almost total lack of detail,
especially from far away. Even at close range, the only visible features are thin, kinked brown lines resembling

cracks in an eggshell. And this analogy is not far off the mark.

The surface of Europa is almost pure water ice, but a nearly complete absence of craters indicates that
Europa’s surface ice resembles Earth’s Antarctic ice cap. The eggshell analogy may be quite accurate since the
ice could be as little as a few kilometers thick —a true shell around what is likely a subsurface liquid ocean that,
in turn, encases a rocky core. The interior of Europa has been kept warm over the eons by tidal forces
generated by the varying gravitational tugs of the other big moons as they wheel around Jupiter. The tides on
Europa pull and relax in an endless cycle. The resulting internal heat keeps what would otherwise be ice
melted almost to the surface. The cracklike marks on Europa’s icy face appear to be fractures where water or
slush oozes from below.

Soon after Voyager 2’s encounter with Jupiter in 1979, when the best images of Europa were obtained,
researchers advanced the startling idea that Europa’s subsurface ocean might harbor life. Life processes could
have begun when Jupiter was releasing a vast store of internal heat. Jupiter’s early heat was produced by the
compression of the material forming the giant planet. Just as the Sun is far less radiant today than the primal
Sun, so the internal heat generated by Jupiter is minor compared to its former intensity. During this warm
phase, some 4.6 billion years ago, Europa’s ocean may have been liquid right to the surface, making it a
crucible for life.

56- What does the passage mainly discuss?
1) Discoveries leading to a theory about one of Jupiter’s moons
2) Temperature variations on Jupiter’s moons
3) The effect of the tides on Europa’s interior
4) Techniques used by Voyager 2 to obtain close-up images
57- The word “intriguing” is closest in meaning to ... .

1) changing 2) perfect 3) visible 4) fascinating
\ /
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58- It can be inferred from the passage that astronomy textbooks prior to 1979 ... .
1) did not emphasize Europa because little information of interest was available
2) considered Europa the most important of Jupiter’s moons
3) provided many contradictory statistics about Europa
4) did mention Europa because it had not yet been discovered

59- What does the author mean by stating that “this analogy is not far off the mark.”?
1) The comparison is quite appropriate. 2) The discussion lacks necessary information.
3) The differences are probably significant. 4) The definition is not precise.

60- It can be inferred from the passage that Europa and Antarctica have in common which of the following?
1) Both may have water beneath a thin, hard surface.
2) Both appear to have a surface with many craters.
3) Both have an ice cap that is melting rapidly.
4) Both have areas encased by a rocky exterior.

PASSAGE 2

Both in what is now the eastern and the southwestern United States, the peoples of the Archaic era (8,000-
1,000 B.C.) were, in a way, already adapted to beginnings of cultivation through their intensive gathering and
processing of wild plant foods. In both areas, there was a well-established ground stone tool technology, a
method of pounding and grinding nuts and other plant foods, that could be adapted to newly cultivated foods.
By the end of the Archaic era, people in eastern North America had domesticated certain native plants,
including sunflowers; weeds called goosefoot, sump weed, or marsh elder; and squash or gourds of some kind.
These provided seeds that were important sources of carbohydrates and fat in the diet.

The earliest cultivation seems to have taken place along the river valleys of the Midwest and the Southeast,
with experimentation beginning as early as 7,000 years ago and domestication beginning 4,000 to 2,000 years
ago. Although the term “Neolithic” is not used in North American prehistory, these were the first steps toward
the same major subsistence changes that took place during the Neolithic (8,000-2,000 B.C.) period elsewhere in

the world.

forum.konkur.in



e i ol 1 yamio (Wi YY) (5 5900 3 (39031 )

N\

&
s

Archaeologists debate the reasons for beginning cultivation in the eastern part of the continent. Although
population and sedentary living were increasing at the time, there is little evidence that people lacked adequate
wild food resources; the newly domesticated foods supplemented a continuing mixed subsistence of hunting,
fishing, and gathering wild plants. Increasing predictability of food supplies may have been a motive. It has
been suggested that some early cultivation was for medicinal and ceremonial plants rather than for food. One
archaeologist has pointed out that the early domesticated plants were all weedy species that do well in open,
disturbed habitats, the kind that would form around human settlements where people cut down trees, trample
the ground, deposit trash, and dig holes. It has been suggested that sunflower, sump weed, and other plants
almost domesticated themselves, that is, they thrived in human-disturbed habitats, so humans intensively
collected them and began to control their distribution. Women in the Archaic communities were probably the
main experimenters with cultivation, because ethnoarchaeological evidence tells us that women were the main
collectors of plant food and had detailed knowledge of plants.

61- The passage mainly discusses which of the aspects of the life of Archaic peoples?
1) The principal sources of food that made up their diet
2) Their development of ground stone tool technology
3) Their development of agriculture
4) Their distribution of work between men and women
62- The word “these” refers to ... .
1) experimentation and domestication 2) river valleys
3) the Midwest and the Southeast 4) seeds
63- According to the passage, when did the domestication of plants begin in North America?
1) 4,000 to 2,000 years ago 2) 7,000 years ago
3) Long after the Neolithic period 4) Before the Archaic period
64- The word “adequate” is closest in meaning to ... .
1) sufficient 2) healthful 3) varied 4) dependable
65- According to the passage, which of the following was a possible motive for the cultivation of plants in eastern
North America?
1) Lack of enough wild food sources
2) The need to keep trees from growing close to settlements
3) Provision of work for an increasing population

4) Desire for the consistent availability of food

N\
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PASSAGE 3

Integrating is concerned with finding relationship with respect to a body of unrelated materials and finding
links between a variety of different materials. The unrelated materials could be theories or opinions, facts on
their own, a body of facts, formulae, and equations. Therefore, to be able to integrate different kinds of
unrelated materials you will need firstly to find out the common or similar elements or parts of the sets of
materials: facts, formulae and equations.

The idea is to see the link between the sets of materials for say, a typical religious education topic like
preparation for marriage in Africa and European societies. This topic will require you to be able to draw upon
your knowledge bringing out the directly and not so directly related facts regarding preparation for marriage
in the two societies. In integrating this information you will have to demonstrate that in both cases, through
not exactly the same way, there are courtship and certain marriage arrangements.

Secondly, integration is enhanced by ordering the variety of materials according to a hierarchy, or order of
importance. Marriage arrangements, for example, notice of registration or wedding. Thus what amounts to
courtship will precede arrangements for regularizing the official status of husband and wife.

66- The main point of the passage concerns ... .

1) the two processes of integration 2) the body of unrelated materials

3) how to find different materials 4) how to find out facts and formulas
67- The author supports the idea that ... .

1) it is impossible to connect unrelated materials

2) courtship is the first principle of integration

3) theories are often made up of unrelated materials

4) it is helpful to structure materials hierarchically
68- The phrase “both cases” refers to ... .

1) direct and indirect facts 2) two types of integration

3) courtship and marriage arrangements 4) marriage preparation in Africa and Europe
69- The initial step in integration is to ... .

1) prepare unrelated materials 2) find out common elements

3) construct theories or opinions 4) determine how various ideas are
70- In the third paragraph, the author gives an example to ... .

1) emphasize the significance of hierarchy

2) explain marriage preparation in two societies

3) show the relationship between husband and wife

4) compare two types of marriage arrangements
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